SUMMIT = MARINE

SUMMIT MARINE SOLAR PANEL HOLDER INSTRUCTIONS SPRING 2009 Doc SPH 090701




Hardware List:

(1) .75” round tube.

(1) 1” square tube.

(1) channel piece.

(4) 2 hole plate.

(2) 3/8-16 x 4.5” bolts HxHd SS.
(2) 3/8-16 x 3.5” bolts HxHd SS.
(1) ¥2-13 x 1” bolts HxHd SS.
(4) 3/8” brass hex nuts.

(2) #10-24 x 4" bolts

(2) #10-24 hex nuts

(2) #10 washers

(1) ¥4-20 x 1.5” bolts

(1) ¥4-20 hex nut

(1) va” washer

Tools required:

(2) 9/16” wrenches

(1) 3/8” deep socket wrench
(2) 7/16” wrenches

Locktite thread sealant

Assemble as shown on 2.5” tube
and locktite all screws. Adjust
panel toward maximum sunlight.










